<fi#> PART13
(7 1) x(y=2)+x(y—4)-5(y-2)-5(y -4)
=Xy —2X+Xy—4x-5y+10-5y+20

(F93) y DA 0L ELY . n=0 Lbn5b,

=2Xy —-6x-10y+30
=2(xy —3x—-5y +15)

=2{x(y-3)-5(y-3)}
=2(y—3)(x-5)
= ZX\/S_X\/B_

=215

(R92) (2a—b)? —2(%—b)(a—2b)

2
=4a2—4ab+b2—2(a7—ab—ab+2b2)

=4a* —4ab+b* —a’ + 2ab + 2ab — 4b?
=3a* - 3b’
—3(a? —b?)
—3(a+b)(a—h)

X=3DLE,  y=972DOT, niIn=0 THaMEN 3 LD /NSINWEBE L2 5,
Lo,

n=—2.—1.0

(R 4) dRGERSEREL W . FEJ/ AC,

(F# 5]

X->T, ZBEF= ZBCA=48

(%)
AFDE DN OF1 =180° LV,

(b)

19+48+90+x =180
X = 23°
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